stress test

S ()3—290 o 1 5 9 ghe T 6. 7t=, M29] dol7} 2z, 322y QI 2S5 HA ] Fuj7t
' 6zty® — 122%y* 4 o), A5HA 9] &o]& F5HH?

T-gp -7

2. (@®*)P +a¥b® =a’® W, z+y 9 A2?

@ 2 @ 3 ® 4 @ 5 ® 6 O ay*-12y @ 2?-2 ® xy? -2y

@ 6xy®> -2y ©® 62212y

3. 6x—-3y x+4y 4dx-5y

2 3 6 v
7. (z+1+2y)(z+1-2y) 5 AN A2
D 22+ 2y @ 2x -2y ® z+y
D 22 -2y —4y2+1
@ x+2y ® 2z+y

@ 2?2 —4ay+1
® 22 —2zy — 4y +1
@ 22 +20—4y2+1

4. (5x —2y)(—3y)E 3] 5HH?
(52 — 2y)(~3y) & 1 oF ® 22— 90 142 11

O —15zy — 692 @ —15zy — 5y?
® —15zy + 63> @ 152y + 5y
® 152y + 612 8. (a+b)(a—0b) =a®—-1b> & o]gsto ALlotr] 7+
dore A2?
O 1982 @ 1012 ® 47 x 53
(—922y® + 3zy?) + O =3z — 1 & wf, O¢ro] Lgre @ 101x103 & 203 x 302
Al2?
D 292 @ —3xy?
@ 3ay? @ —3zy®+vy
® day’ +y




9. (a+b+c)?S HHsha?

@ a®+ b+

@ a?>+v*+c+ab+be+ca
@ a?+b*+cf+a+b+c
@ a*>+ b+ +2a+2b+2c

® a® +b% + %+ 2ab + 2bc + 2ca

10. A5 A S o) gdto] o7 x 55 & @ Ape] 517 75

11. Z3lo0]y] Al g Axjshe 48 7)

A 3z—2y—{x — (Ty — 62) + 5} = ax+by+c
AW, a—b+c o S TStk
& 14, AF 10, 84 - —10, HE

012

X

—14,

ofll

12. 42+ 3y =2 4 o, 5(x — 3y) — 24z — 3y) & z °I
B 402 vehole,

13. (az—2)(7z+b) & ANG Alo] ca? +102—16 4 o,
4 a,b,c ol tiste] a + b+ ¢ 9] g2 FShoiet.

3a(a + 2b) — (10ab + 8ab?) + (—2ab)

15. FA4 F4& o835t (z+ 3)(z +a) B AT Alo]
z? +bx — 12 o[t} ol A< a, b ] & FStofz=t.

16. 52 -2y = 4o +y -3 L W, 52-2y+5 5 = °l
T Aoz vehfolet,




18. n o] &5 2 o,
(1" + (1) = (1) =
o,

(~1)2t o] ghe 75

19 a5y xargs = ol WL T @ m, [Caren armre 42

A & 2 AL

D 15,12 @ 8,8 ® 7,9

@ 5,11 ® 11,7

20. of@ chalAol A 20 — 3y 1 55 Cldjol B AL A
shol MLE 4z + 2y — 30 Hlek. o] W, wp27]

ARG 27

O —4x—2y—8 @ —2z—5y+8

® 2z —5y—8 @ 6xr—y+2

® 8 —4y+7

3 1
21' (1x+§y)2:a$2+bxzj+0y2 OE“I. Uﬂ, }\O‘I—ZI\_aab7C

g a+b+c 2 FH2?

5 2

25 13 27 7
OF @35 O 93 6

23. 4% a. b, c, d o Bf5to] ohg BI04 atb—3e-+3d
of gg Ffoier.

H7]

& o~ 20— (y—32) — {z — Bo—y)}) =

ax + by
2 5
© 5y—|2y — (e —y) — |52~ (@ —4y)
=cr+dy

24. A=2(22+1), B= (823 + 222 — 62) + (—2z), C =
(221y?)3 = (225y3)% o]tk A—[2B—{A+ (B+ O)}]
£ 93] stdle w4 ] Aot Aede] o2
T-5hH?
1w ®©11 612

@ 13 ® 14

25, xyz#£0, 2y =a,yz =0b, zz = c¥ W, 22 + 3% + 2?2
o] g= a, b, coll Tsto] HI=A YEbd 227

c a b b c a
b b a c
@% ac _ab




